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Time allowed : /2 Hour] [Maximum Marks : 30

d to extend

= (i) @ e e Evd sRwm el ST |

’ All Questions are compulsory and each question is of 1 mark.

(ii) T T 7 3 g i ey 7 st srgare & A= & |

T Only English version is valid in case of difference in both the languages.

(6x2

a suitable
3 FEAE® B UG A TonE 1. The resistance temperature
6x2 B 8 A coefficient of an intrinsic
(a) AT semiconductor is
(b) TOMHS (a) Positive
© = (b) Negative
@ IR (), 280
(d) None of these
6x2 "
e = Wtﬁwm@mm 2. The energy gap between conduction
& 7 Tl el e @y | band and valance band for the
(a) leV (b) SeV insulator is approximately
() @ (d 0.7eV (a) leV (b) SeVv
(c) Zero (d) 0.7eV
F PUER B IE TS QO
a0 8 ‘ 3. A P-type semiconductor as a whole is
(a) YARHS AT (a) Positively charged
(b) TN AR (b) Negatively charged
© WW (c) Electrically Neutral
@) TEE S s # (d) Positive or Negative depending

Bt e P upon doping
1) P.T.O.
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4. 5 diee faa fave wa wA g SR
TS I A 6o fove B e
(@ S5mV () 50mV
(c) 5000 mV @ 07V
5. ®99 TEEH uhgor IeaE €2
(a) W IoESTH ST
(b) T TET
(c) T TEE
(d) T TEE
6. fwan faftm wfmy gzt &
_ rmgmae e
(a) CB
(b) CC
(c) CE
(d) T FE T
7. foyetdfwdfer_ Feiftmgfed
(a) HXT
(b) ez
(c) i
(d) SvdE d ¥ HE T
8. gFhmxdfmmemil,,_
(a) ;?aanmcwmaa#wgmhdﬁh
|
(b) W 1 °C A T W A |
(c) o9 ag & 9y Y& sget & |
(d) 9 g & WY GG T ¥ |
9. ZifeRet U wifey & et GEw ¥
(a) B=1_fa‘
® B=1o
© ﬂ=1-11-oz
) B=lfa

2051

To obtain 5V regulated output, the
zener breakdown voltage for zener
diode must be
(@ SmV

(¢) 5000 mV

() 50mV
d 07V

Which diode contains highest doping ?
(a) LED

(b) Zener diode

(c) Tunnel diode

(d) Varactor diode

Highest input resistance is obtain in
configuration of transistor.

(a CB '
(b) CC

(c) CE

(d) None of these

Bipolar Junction Transistor is a
controlled device.

(a) Current

(b) Voltage

(c) Power

(d) None of the above

In a transistor the leakage current I,

is

(a) Double for every 10 °C rise in
temperature.

(b) Double for every 1 °C rise in
temperature.

(c) Increase linearly with rise in
temperature.

(d) Decrease linearly with fall in
temperature.

The correct relation for transistor
current gain is

o 1
@ P=i o mi®-ile T

1
1+

() B=
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10.

11.

12.

13.

g
(a)
(b)
(c)
(d)

(a

(v
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12.

13.

14.

15.
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10.

v Ziferet o feaw &t o W @
& A g1 Wiy @t il g e
(a) W, WY

(c) T¥g, 3

(@ 3w, ew

I A e # gt cE e
FyEeHfag  #

@ Vgplp -

b) Vep Ig

© Veplc

@ Vge Ic

Ziferet ftay =t fewar #t wifaa s&
TAPRE T

(@) B

®) Iy

(c) VBE

(d) ST ot

BT ¥ Faga et el afagha
T & ford SUga 6 & 2

(a) oHRET

(b) TEE

(c) W=

(d) TR

aig T e ¥ W 99
TEE |

(a) R-C3oFm

(b) W

(c) aieear frams

(d) I MH

FET #! Frafere ufemmen @it &
(@) =

(b) =

(c) w&m -

(d) Q=g

10.

11.

12.

13.

14.

15,

2051
When transistor is operating as a

- switch, then biasing of both junction

must be

(a) Forward, Reverse
(b) Reverse, Reverse
(c) Reverse, Forward
(d) Forward, Forward

The operating point for transistor in
CE mode with zero signal condition
is

(@ Vgg I

®) Vep Ig

© Veelc

d) Vg lc

The factor that affects the stability of
transistor circuit is

(@ P

® I

(©) VBE

(d) All of these

Which component is not suitable for
transistor bias compensation
technique ?

(a) Thermister

(b) Diode

(c) Inductor

(d) Sensistor

Thermal runaway condition can be
avoided using

(a) R -C Filter

(b) Amplifier

(c) Voltage regulator

(d) Heat Sink

Input impedance of FET is
(a) Low

(b) High

(c) Medium

(d) None of these

P.T.O.
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16.

17.

18.

19.

20.

JFET el &q Wel ey &
(@ p=g,ry
(0) g,=Mury
(€) rg=pg,

@@ p= ‘\!gmrd

MOSFET % 2fiFeit &% 7 &
(a) TUArE, FUIE, 1T

(b) 3, PR, N

(c) g, e, O

(d) 7, 9,

@qm%qdawﬁwuﬁﬁamm
__ TEEeRE

(a 2
(b) 4
() 6
@ 1

T 0 O T Resdt @ v
e dieear _ w@t € 1 (V,, =
ferat feva)
(@ 2V,
® V,
&) N,

@ 2v,

I ateea Frpres ooy o fRw v =
50sin 100t &, @t frfa fna & 99

T BT

(a 100V
(b) 125V
(c) 150V

(d) '\/ 300V

16.

17.

18.

19.

‘The PIV of center tap full wave

2051
JFET

The correct relation for
parameters is
@ H=gyly W

(b) gn=Hry
(c) I3=HUg,

d p= ‘\I EBmla

The name of MOSFET terminals are
(a) anode, cathode, gate

(b) Drain, collector, gate

(c) Base, Emitter, source

(d) Gate, Source, Drain

The minimum number of diode is
required for full wave bridge rectifire

(@ 2
(b 4
) 6
@ 1

rectifier is (V_, = Peak potential)
(@ 2v
® Yy,
© 3V,

@ 2v,

If input is v = 50 sin 100 t, then
approximate output voltage of,
voltage trippler circuit will be

(@ 100V

(b) 125V

() 150V

() 300V

21.
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21.

R

o3

.,

RV, =(10R20 V), V, =5V, I,
=(10mAR 90 mA) W [_. =10 mA
¢ @ 9 Steean Fame o g it
FATAMATF AT g |
(@ 100Q '

(b) 200Q

© 50Q

@ 75Q

et & fria & ac. @ " @
FeaE |

(a) TR wfeeiy fava
(b) Stoem
(c) Tw=
(d) e

R-C frt s R sfm & &
ot & ol =t e fepar ST &

(a) iy

(b) iR

(¢) R-C % Aot WgIoH

(d) R-C %1 GHFRR §ISH

359 PN URE BT F SEFAE F
w9 yaier 8 SEvEE I &

(@ RC<<T
(b) RC>T
(c) RC=T

(d) RC=2T

I a0t i A 3w uftay @ el
PR T WY W e € @ 9%
Lire g

(a) T s o i
(b) I gl TR B
(c) F®H
(d) IR

21

22,

23,

23.

2051

fV,=(10t020 V), V,=5V, I _,=
(10 mA to 90 mA) and L. =10 mA

then approximate value of current
limitnng resistor for zener voltage
regulator circuit will be

(a) 100Q
(b) 200Q
© 50Q
@ 75Q

The content of a.c. in the output of
rectifier is called as

(a) PIV

(b) Ripple

(c) Regulation
(d) Efﬁciency

The output is taken out across
of R-C low pass filter.

(a) Resistor

(b) Capacitor

(c) Series combination of R-C
(d) Parallel combination of R-C

For high pass filter the condition for
differentiator is

(a) RC<<T
(b)) RC>>T
(c) BRC=T

(d RC=2T

For square wave input if a circuit
output is a triangular wave, then this
circuit may be a
(a) Low frequency pass filter
(b) High frequency pass filter
(c) Clipper

(d) Clamper

P.T.O.
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26.

7.

28.

29.

30.

et E3a & oA W HaA L
frar s &

(a) TEE AN FAEH
(b) THEE FAFR FaH
(c) =X =wdw

(d) IR T

e a7 WY WA W
qRae e B |

(a) T WES FH

(b) T TEE FiEH

(c) W

(d) JFET Wa¥&®

Al FOMHF TR TRIE H & v =
~ 10 sin 50t ¥ & 9% Fia o &1
S w W | IES
et &)

(a) -20V

(b) -10V

(c) 10V

(d 50V

TAIT FiH URGY ¥ SO HTeRor
% IfEe e e €

(2) Fraftm urr ve ffe aieean
(b) Frafem ateear @ frfe amr
(c) Frafm urr va ffer amr

(@) Fafe ateear v ol aeear

T I SIS & H | i
g fepan ST & 2

. (&Sl

(b) Ge
(c) CdS
(d) GaPAs

(6)

26.

27.

28.

29.

30.

2051
The amplitude of a signal can be
clipped by
(a) Diode series clipper
(b) Diode shunt clipper
(c) Transistor clipper
(d) All of these

Staircase
employing

wave  generator  is
circuit.

(a) Double side clipper
(b) Zener diode clipper
(c) Clampéf

(d) JFET Amplifier

For a negative clamper circuit of
input is v = - 10 sin 50 t, then the DC
level of output signal will be
(Assume diode is ideal)

(a) =20V
(b)y -10V
(c) 10V
(d) 50V

The transfer characteristics for diode
clipper circuit is plotted between

(a) Input current and output voltage
(b) Input voltage and output current
(c) Input current and output current
(d) Input voltage and output voltage

Which semiconductor is suitable for
constructing LED ?

(a Si

(b) Ge

(c) CdS
(d) GaPAs
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ELECTRONIC DEVICES & CIRCUITS
|' ART-II

is '
Mm dmE] [srftreaw 37w : 70
Time allowed : Three Hours] [Maximum Marks : 70

(i) e 7v7 Afar & 919 5 § fael ate & Iov g |
Question No. 1 is compulsory, answer any five questions from the remaining.
(i) HeAF 79 & T 9P 1 HHEAR T T & FTT |
Solve all parts of a question consecutively together.
(iii) W% 797 F 73 §5 G IR BT |
Start each question on a fresh page.
(iv) i qrrsn & s gl @i Rty & sinet srgar & a8

Only English version is valid in case of difference in both the languages.

T TErE & et # Fan faww 2

What is the special in the characteristics of Tunnel diode ?

Zifere fomara & “rer F T A & 2

What do you mean by “Common” in transistor configuration ?

JFET wd MOSFET # #i¥ 3t 37 fef@n |

Write any two differences between JFET and MOSFET.

T 7o o IR feeer St @M A o € 2

In which condition the inductance filter is used ?

FieEieeeEs TN 7 € ?

What is Photovoltaic effect ? (2x5)

A T IS UEE W AT FT TEHA € 7 IS SYE W AHH HTFT TS
T E 2

What do you mean by intrinsic and extrinsic semiconductors ? What is the effect
of temperature on extrinsic semiconductor ?

T ICAOE TS HI FEAVOTSA UF SR B GEeEd | TWE HIE 9X
Iy o fafae |

Explain the working and characteristics of Light Emitting Diode. Also write its
any four applications. (4+2, 4+2)

@ P.T.O.
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3. (i) et =l yads e =t aaemed |
Explain the Amplification action of Transistor.
(i) afx et ZifreT % ‘o 1AM 0.98 &, @ 3T T B’ wa y 1 W T i |
If value of ‘e’ for a transistor is 0.98, then calculate the value of ‘B’ and ‘Y’
for it. (6, 3+3)
] 4. (i) NPN ziftTes ¥ wdfre soueie faarg &g Praeh ue frfa sfemeaftes # e o
R |
- Draw and explain input and output characteristics of Common Emitter
, configuration for NPN Transistor.
2 (i) gHRET ® vgE HQ g A Ui deles B THeE |
’ Explain the bias compensation technique using thermistor. (6x2)
5. (i) JFET % SEvome ua ifemeiomes st auened |
Explain the working and characteristics of JFET. ]
| (i) TF N-36T JFET # 3 Ae2al Vg oqp) = — 4 E & T VIR UK Iy = 8mA &
| A FRAN SR (V) = — 3 AMee & ford Frim 4w [ 1 7 3 i |
i An N-channel JFET has cutoff voltage VGs(om = — 4 VoIt and saturation current
; I ss = 8mA, then calculate the output current (I,g) for gate to source voltage
(Vgs) =—3Vol. (6x2)
. A g .
a4 6. (i) THEE I T e § gt @e W i uRT vd S i e i |
1‘ Calculate the average current and ripple factor of diode half wave rectifier circuit
e for resistive load.
i (i) SHH T g T GHER € 2 T HY FH oA 1 " & 2 wHeed |
! What do you mean by ripple ? How it can be reduced ? Explain. (3+3, 2+44)
| :
| 7. () R-C Fret o freet =i v ® a9emd | 5w 1o § a5 auees w1 e
/o 9
* .
; Explain the working of R-C low pass filter. In which condition it works as an
! integrator ?
(i) TAETE At YT Feiwh B BEAYUNA! Ta 0T AT H TS |
1 Explain the working and transfer characteristics of Diode series positive clipper
' , circuit. (4+2, 6)
‘; 8. Prat w witre fewfret ferfiae - (i @

o
e

Write short notes on the following : (Any two)

@

AT a0y S
Stair case wave form generator

(i) et uE T 9r @
D.C. and A.C. load line
(i) wI TEET

Photo Diode (6x2)

!




